laples incomplétes 1

6 4 1] X ¢
6 33 | 12 12
4 24 0
77 49
12 10
Taples incompléetes 2
X 5 2
8 54 42 | 12
108 | 36 2
55 | 35 77
72 20




Tapbles incomplétes 3

4 5 || X 6
7 42 | 35 2| 12
25 0
18 7 56
16 5
Tables incomplétes 4
X 3 2
8 81 36 | 18
9 | 32 16
66 | 54 12
108 21




Tapbles incomplétes 5

3 6| | X 4
9 12 | 6 3 | 12
36 36
48 7 56
01 36
Tables incompletes 6
X 5 4
64 49 56 | 28
3 | 32 20
84 | 72 160
50 30




laples incomplétes /

3 12 || X 15
100 30 18 | 90
300 18
72 12 16
12 120
Tables incomplétes &
X 8 6
25 28 36 | 24
81 54
64 108
49 30




Tables incomplétes 9

4 9 1 8 || X
42 07
45 35 | 49
72 15
24 40 16
Taples incomplétes 10
4 X 6 8
84 28 36 | 32
72 88
32 | 16 40 81
64 150




